SHM5E€1A308 (A)

B4 A SHZB] OO/M, OOKE) =3 aCk (A1) | BukA B3 =
1820H AEINERR 6 402.0 15 &
1H20H FHREEE/N 6 348.0 25 %
12.26 BB/ 6 345.0 7 &
18208 2)I[/ 6 323.0 4 %
12.26 FJIEN/ 6 1 303.0 8 iR
12.26 ABFINERL 6 1 294.0 16 R
1H20H =RE/ND 6 1 285.0 20 iR
18208 LIR/NER 6 1 283.0 36 iR
12826H RW/NER 6 3 281.0 19 iR
18208 RS U= 6 1 276.0 1 R
1.19 BIE 1 1 274.0 10 iR
18208 HIRINER 6 2 268.0 15 i)
18178 EEI/ 6 1 265.0 10 i)
128268 HE/NER 6 1 260.0 5 i)
1A20H KEF[R/N 6 1 256.0 7 i)
18208 ALBR/ AR 6 1 253.0 5 i)
1H20H RER/NER 6 1 252.0 59 g
128208 EfR A /N AR 6 2 251.5 3 i)
12.23 LEEE/NER 6 1 251.0 10 i)
1A20H [T N=ct oy 6 1 247.0 16 i)
18198 BR{R /1N 6 2 246.0 1 i
128208 EfR A /N AR 6 3 238.0 8 i)
128198 BIR/DNER 5-6 1 238.0 2 i)
118218 BA/D 6 1 235.0 7 i)
1820H N EINERR 6 2 235.0 16 i)
128208 EfR A /N AR 6 1 2345 3 i)
1.10 FRZ AR 6 1 234.0 4 i)
12.26 S/ 6 2 232.3 3 i)
12.26 RIFEESERK 6 1 225.0 10 i)
18208 HIRINER 6 1 223.0 15 i)
18208 BEE R/ 6 1 223.0 4 i)
128198 JBINERR 6 1 220.0 2 i)
128268 2 BINERR 6 1 217.0 20
18208 KEF/NER 6 1 214.0 8
1H20H KINNERR 6 1 212.0 5
1A20H ERSITIN 6 1 211.0 2
12H26H I BRIV AR 6 1 210.0 3
128268 BN 6 1 205.0 12
1.18 FHRE/NER 6 1 201.0 5




40| 18208 R {E /] 6 1 197.0 3
41 18208 EE/NER 6 1 192.0 10
42 18208 EE/NER 6 4 190.0 10
43 12.23 HEE/N 6 1 184.0 1
43| 18208 G HE=UN 6 1 184.0 10
45 12.23 HEEE/N 6 2 183.0 1
45| 18208 FHH/NER 6 1 183.0 1
47 12.26 HFH/INER 6 1 181.0 5
48| 12H23H SLETINERR 6 3 176.0 5
49| 18208 IEF /N AR 6 1 165.0 5
50 18208 FHETH/ 6 2 162 5
50 18208 ]2/ 6 162.0 5
52 12H13H TR/ 6 3 160.0 2
53| 12R19H KETOLYZEE 6 1 152.7 7
54 1.13 KERINERR 6 3 152.0 2
55 12.06 B INERL 6 2 151.0 1
55 18198 BRfm /I 6 1 151.0 1
57 1H18H KB/ 6 1 148.0 2
58 12.06 BFENER 6 1 146.0 1
59 12.06 BEINER 6 3 145.0 1
60| 12R19H KETOLYZEE 6 2 128.0 6
61| 12819H {EEINERR 6 2 126.0 15
62 12.26 HR/IMER 6 3 1240 3
63 12.16 KiE/D 6 1 117.0 1
64 12.22 RIFESHRE 6 3 101.0 6




